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 � �
 � � � � � � � �� � �	 � � ��	� q � � � �� 	 �	� � ��� � g
A
 �� � � 	 � � � � �� � � � x ∈ {0, . . . , q − 1}
G, g 	 � gx �� 	 �� � � �
 � � � �

A −→ B : gx

B � � � � � ��� � 	 � � � �	 �	 � � �� 	 m � � A	 � � B
 �� � � 	 � � � � �� � � �

r ∈ {0, . . . , q − 1}
B −→ A : (gr,m · (gx)r)
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q

�� ��	 �	 � �� � � � � ��

empty run ∈ Run
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Val y Sec
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� � � 	 HashQuery := Zq[Val]3 × Val

h : HashQuery := (a, b, d, c)⇒ c = H(a, b, d)
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eRun : Run

R : Run e : list Val
step(R, e) : Run

R : Run c : HashQuery
hashstep(R, c) : Run

R : Run cip : Z4
q

decstep(R, cip) : Run

IGA = {Sec,Val : Set; run : Run; inp : (listT (listT Val))}
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